20214 F HEIERIPHY—Fvr T INRRRNEEQH (REO—) FHSFEN1ATISE (L)
EFHH:11A98 (K)

BINTY M) —Zf

17%@ # £ B ( BRC1=757=2957 )

£H88:30%4% 9: 00X &M

12K #BE(SREVNTZRYIST )

2 BYE —_ _—18 BYE

3N d #® OB (M £ B T C)— ) | —— 19 BYE

4 @ K ¥ (every TC)—_ _—20/1\’ET|JJB%1:($EH$TC)
5 8 #£ — F ( ARC1ZTFFZRIST ) —— | R —— 21N F R B (XD FZRYIST )

6 BYE —— ——ZZﬁlﬁ EX(F =)y — T C)
7 BYE —_— R | —— 23 BYE

8 BR fit KB ( MIYAKEJr&ETC )—_ _— 247 B2 H B ( MIYAKEJr&ETC ) @
9 tEA KR X (W & T C ) — —— 25 % #H B KX ( SREVFTF=ZRYZTT )

10 BYE —_ _— 26 BYE

11 BYE —_— | | —— 27 BYE

12€ &% B & ( BEP2=77=R957 >—— —— 28 F# Lt 3 E ( MIYAKEJrEETC )
13 # #H X ( MIYAKEJrEETC ) — i - — 298 B HE B (b v T T3 v

14 BYE —_ _—SOJEEE g2 (F 1) — T C)
15 BYE —_— R | —— 31 BYE
16%[%59&7&(7-1')—TC)—_ _—SZEW F (WM &£#8 B T c) @

y-VIEtE O ERR H#HE @QB#H F QAR FX OFE B



. R SHIE11A138 (L)
20214 F HIFARIPH—Fvb U TIRRRFFEQH (REO— K
E#HH:11A10B(K)

EBINT M) —54F

£58:30%4 9:00 A%

Q1 & B E 2 (r v T 35 v )— — 5 & =1 WMk " HTA)
2 BYE 6 @ # E ( MIYAKEJrgE )
3 W R E X (M £ B T C)— — 7 B @ 2 #w (/7 TABM)
4F W w E (7 % E T C) 8 & W # B K(7 ¥ E T Cc) @

Y-NIER @ HE EE @ £diit K



